
1st clue: RMNEB SISWD IILPL OTRSES ~ RMNEBSISWDIILPLOTRSES ~ REIDLOS (2 bsp, 1 
left each) 
 
Whole:    K-Y-V-W-K-C-E-C-O-O-M-I-M-E-C-F-G-C-Q-F-C becomes... 
 
Pared Down: KWEOMFQ 
 
Backwards: QFMOEWK 
------- 
2nd clue Ciper (cons 3 ahead, vowels 2 ahead) 
 
Whole:    K-Y-V-W-K-C-E-C-O-O-M-I-M-E-C-F-G-C-Q-F-C 
    N-B-Y-Z-N-F-C-F-M-M-P-G-P-C-F-I-J-F-T-I-F 
 
Pared Down:    KWEOMFQ 
   ​  MYCRKIT 
 
Backwards:    QFMOEWK 
   ​  TIKRCYM 
----- 
3rd Clue Ciper 
 
A=W 
B=Y 
C=K 
D=T 
E=F 
F=E 
G=J 
H=Q 
I=O 
J=G 
K=C 
L=X 
M=U 
N=V 
O=I 
P=S 
Q=H 
R=Z 
S=P 
T=D 
U=M 



V=N 
W=A 
X=L 
Y=B 
Z=R 
 
DQFIZ KPIED WZYWS QIVKO ZKXFW ZIMVT DQFXW CFPAF PDFZ VFTJF 
 
THEOR CSOFT ARBAP HONCI RCLEA ROUND THELA KESWE STER NEDGE 
 
Whole: 
 
K-Y-V-W-K-C-E-C-O-O-M-I-M-E-C-F-G-C-Q-F-C 
C-B-N-A-C-K-F-K-I-I-U-O-U-F-K-E-J-K-H-E-K 
 
KYVWKCECOOMIMECFGCQFC 
CBNACKFKIIUOUFKEJKHEK 
 
Pared Doen: MYCRKIT = UBKZCOD 
 
Backwards?: TIKRCYM = DOCZKBU 
 
This is, of course, always applied in order (Which is probably wrong) 


